JL_

Solving with Parenthesis Name:
Solve each problem. Answers
1) (45+5)+10=
1.
2) (2x9)-2=
2
3) 3x10)+5=
3
4) (40-24)+8=
4,
5) (50-30)+ 10=
5.
6) (16-8)+4=
6.
7) (7-5)+8=
7.
8 (9x5)-8=
8.
9 (20+2)x4=
0.
10) (16 + 24)+ 8=
10.
11) (2x6)+9=
11.
12) (8x12)+4=
12.
13) (21+3)-7=
13.
14) (4 + 6)— 2=
14.
15) (16—4)+6:
15.
16) (10-3)+2=
16.
17) (63+9)x 7=
17.
18) (3 + 4)X 6=
18.
19) (9+4)x 8=
19.
20) (18+18)+ 6=
20.
[ Math ] 1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50
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Solving with Parenthesis Name. Answer Key
Solve each problem. Answers
1) (45+5)+10= 1 19
2) (2x9)-2= ) 16
3) (3x10)+5= ; 35
4) (40-24)+ 8= 4 2
5) (50-30)+10= 5 2
6) (16-8)+4= . 2
7) (7-5)+8= , 10
8 (9x5)-8= . 37
9) (20+2)x4= 0 40
10) (16 +24)+ 8= 10. =
11) 2x6)+9= 11 21
12) (8x12)+4= 1. 24
13) (21+3)-7= 13 0
14) (4+6)2= 14 S
15) (16+4)+6= 15, 10
16) (10-3)+2= 16. 9
17) (63+9)x7= 17, 49
18) (3+4)x6= 18. 42
19) (9+4)x 8= 19, 104
20) (18+18)+ 6= 20, 6
1T10]95190185180175] 7016516015550
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (45+5)+10=
1.
2) (2x9)-2=
2
3) (3x10)+5=
3.
4) (40-24)+ 8=
4.
5) (50-30)+10=
5.
6) (16-8)+4=
6.
7) (7-5)+8=
7.
8 (9x5)-8=
8.
9 (20+2)x4=
)
10) (16 + 24)+ 8=
10.
11) (2 X 6) +9=
11.
12) (8x12)+4=
12.
13) (21+3)-7=
13.
14) (4 + 6)— 2=
14,
15) (16—4)+6:
15.
16) (10-3)+2=
16.
17) (63+9)x 7=
17.
18) (3 + 4)X 6=
18.
19) (9+4)x 8=
19.
20) (18+18)+ 6=
20.
M ath M odified 1-10 [95]90[85]80[75] 70 6560 55 | 50
at www.CommonCoreSheets.com 11-20[ 45| 40[ 35|30 25] 20| 15[10[ 5 [ 0
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12x12)+4=
1.
2) 4+7)-2=
2
3) (6-2)x5=
3.
4) (8 + 9) -3=
4,
5 (60+10)-4=
5.
6) (60+6)-9=
6.
7) (8+10)x3=
7.
8) (42-21)+7=
8.
9) (8x6)+4=
)
10) (11-9)+4=
10.
11) (10x 15)+5=
11.
12) (10x9)+3=
12.
13) (6+6)+2=
13.
14) (7x3)-4=
14.
15) (5+5)-5=
15.
16) (20+30)+ 10=
16.
17) (15 = 3))( 5=
17.
18) (20+5)x 10=
18.
19) (12 X 8)— 4=
19.
20 6x9)+3=
) 6x9) 20.
[ M ath ] 1-10 195|90|85(80|75]|70| 65|60 |55|50
www.CommonCoreSheets.com 11-20(45(40|35|30|25(20|15|10| 5| O
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Solving with Parenthesis Name:  Answer Key
Solve each problem. Answers
1) (12x12)+4= 1 36
2) (4+7)-2= N 9
3) (6-2)x5= N 20
4) (8+9)-3= a 14
5) (60+10)-4= 5 2
6) (60+6)-9= 6 1
7) (8+10)x 3= 7 4
8) (42-21)+7= 8 3
9) (8x6)+4= 9 52
10) (11-9)+4= 10, 6
11) (10x 15)= 5= 11 30
12) (10x9)+3= 12, 93
13) (6+6) 2= 13 6
14) (7x3)-4= 14 17
15) (5+5)-5= 15, 5
16) (20+30) 10= 16. S
17) (15+3)x5= 17, 25
18) (20+5)x 10= 18, 40
19) (12x8)~4= 19. 24
20) (6x9)~3= 2. 18
T10195]90]85180 751701651 60155150
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12x12)+4=
1.
2) 4+7)-2=
2
3) (6-2)x5=
3.
4) (8 + 9) -3=
4,
5) (60+10)-4=
5.
6) (60+6)-9=
6.
7) (8+10)x3=
7.
8) (42-21)+7=
8.
9) (8x6)+4=
0.
10) (11-9)+4=
10.
11) (10x 15)+5=
11.
12) (10x9)+3=
12.
13) (6+6)+2=
13.
14) (7x3)-4=
14.
15) (5+5)-5=
15.
16) (20+ 30)+ 10=
16.
17) (15 = 3))( 5=
17.
18) (20+5)x 10=
18.
19) (12 X 8)— 4=
19.
20 6x9)+3=
) 6x9) 20.
M h M odified 1-10 195|90|85(80|75]|70| 65|60 |55|50
at www.CommonCoreSheets.com 11-20(45(40|35|30|25(20|15|10| 5| O
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (7x6)+9=
1
2) (3 X 8) +8=
2
3) (60-30)+10=
3
4) (40+10)x5=
4,
5) (20-10)+ 5=
5.
6) (90+9)x 6=
6.
7) (18+27)+9=
7.
8) (6 X 6)— 3=
8.
9) (3+6)x6=
0.
10) (8 X ]_2)— 4=
10.
11) (10-5)x 7=
11.
12) (40-16)= 8=
12.
13) (8x4)-10=
13.
14) (8-5)+5=
14,
15) (9 + 6))( 5=
15.
16) (5x4)+9=
16.
17) (50-20)+ 10=
17.
18) (8 + 7)X 7=
18.
19) (3 X 7) +2=
19.
20) (12x18)+6=
20.
[ Math ] 1-10 [95]90[85]80[75] 70] 65[60] 55 [ 50
www.CommonCoreSheets.com 11-20[45[40[35[30| 25 20]15[10[ 5 [ 0
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Solving with Parenthesis Name: Answer Key
Solve each problem. Answers
D (7x6)+9= n 51
2) (3x8)+8= ) 32
3) (60-30)+10= 3 3
4) (40+10)x 5= 4 20
5) (20-10)+5= 5, 2
6) (90+9)x 6= 6. 60
7) (18+27)=9= 7 S
8) (6x6)+3= 8. 12
9) (3+6)x6= 9 A4
10) (8x12)= 4= 10. 24
11) (10-5)x 7= 11 35
12) (40-16)- 8= 1. 3
13) (8x4)-10= 13, 22
14) (8-5)+5= 14, 8
15) (9+6)x 5= 15, 75
16) (5x4)+9= 16. 29
17) (50-20)+10= 17. 3
18) (8+7)x 7= 18, 105
19) (3x7)+2= 19, 23
20) (12x18)+6= 20. 36
1T101951901851801751 70165160155 50
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (7x6)+9=
1.
2) (3 X 8) + 8 =
2
3) (60-30)+10=
3.
4) (40+10)x5=
4.
5 (20-10)+5=
5.
6) (90+ 9)x 6=
6.
7) (18+27)+9=
7.
8) (6 X 6)— 3=
8.
9) (3+6)x6=
)
10) (8 X ]_2)— 4=
10.
11) (10-5)x 7=
11.
12) (40-16)+8=
12.
13) (8x4)-10=
13.
14) (8-5)+5=
14.
15) (9 + 6))( 5=
15.
16) (5x4)+9=
16.
17) (50-20)+ 10=
17.
18) (8 + 7)X 7=
18.
19) (3 X 7) +2=
19.
20) (12x18)+6=
20.
M h M odified 1-10 {95]90|85(80| 75| 70| 65| 60|55 |50
at www.CommonCoreSheets.com 11-20|145|40(35|30(25(20|15|10( 5| O
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (16+16)+ 8=
1.
2) (8 = 4)X 4 =
2.
3) (2 X 3) +5=
3.
4) (8 + 4) -9=
4,
5 (49+7)+5=
5.
6) (14-6)+6=
6.
7) (5 X 3) + 4=
7.
8) (35+7)x5=
8.
9) (24x24)+8=
9.
10) (90+10)+6=
10.
11) (21x 14)+ 7=
11.
12) (35+7)x2=
12.
13) (12—9) +8=
13.
14) (10+2)+7=
14,
15) (16-7)+8=
15.
16) (5x10)+2=
16.
17 4+7)-7=
) ¢ ) 17.
18) (56+7)+2=
18.
19 6x7)-7=
) ) 19.
20) (60+10)-8=
20.
[ Math ] 1-10 [95]90]85]80]75][ 70 65]60[ 5550
www.CommonCoreSheets.com 11-20[45] 40| 35[30]25] 20 15]10[ 5| 0




ﬂh Solving with Parenthesis Name. Answer Key

Solve each problem. Answers
1) (16+16)-8= 1 4
2) (8+4)x4= 2 8
3 (2x3)+5= 3 11
4 (8+4)-9= 4 3
5) (49+7)+5= 5 12
6) (14-6)+6= 6 14
7) (5%x3)+4= 7 19
8) (35+7)x5= 8 25
9) (24x24)+8= 9 12

10) (90+10)+ 6= 10. 15

11) (21x 14)= 7= 11 42

12) (35+7)x2= 12, 10

13) (12-9)+8= 13, 11

14) (10+2)+7= 14, 12

15) (16-7)+8= 15, 17

16) (5% 10)+2= 16. 52

17) (4+7)-7= 17 4

18) (56=7)+2= 18, 10

19) (6x7)-7= 19, 35

20) (60 10)-8= 20, -2

M th 4 1-10 |95]90|85|80|75[ 70| 65[ 60|55 |50
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (16+16)+ 8=
1
2) (8 = 4)X 4 =
2
3) 2x3)+5=
3
4) (8 + 4) -9=
4,
5) (49+7)+5=
5.
6) (14-6)+6=
6.
7) (5 X 3) + 4=
7.
8) (35 = 7))( 5=
8.
9) (24x24)+8=
0.
10) (90+10)+6=
10.
11) (21x 14)+ 7=
11.
12) (35+7)x2=
12.
13) (12-9)+8=
13.
14) (10+2)+7=
14.
15) (16-7)+8=
15.
16) (5x10)+2=
16.
17 4+7)-7=
) ¢ ) 17.
18) (56+7)+2=
18.
19 6x7)-7=
) ) 19.
20) (60+10)-8=
20.
M ath M odified 1-10 [95]90[85][80[75]70[65] 605550
at www.CommonCoreSheets.com 11-20[45[40[35[30] 25 20]15]10[ 5 [ 0
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12-3)+4=
1.
2) (13-5)x2=
2.
3) (15+15)+5=
3.
4) (5x3)-7=
4.
5) (24 +24)+ 8=
5.
6) (25-10)+5=
6.
7) (4 + 6)— 2=
7.
8) (12+12)+6=
8.
9 (80+8)-4=
9.
10) (4 + 4)X 3=
10.
11) (30+10)+8=
11.
12) (90+10)+5=
12.
13) (10)(8)-3:
13.
14) (6 X 6)— 2=
14.
15) (3+10)x2=
15.
16) (6 + 6)— 3=
16.
17) (36+6)-8=
) ¢ ) 17.
18) (14-5)x3=
18.
19) (17-10)+3=
19.
20) (20+10)x 10 =
20.
[ M ath ] 1-10 {95]90|85(80| 75| 70| 65| 60|55 |50
www.CommonCoreSheets.com 11-20|145|40(35|30(25(20|15|10( 5| O




C:h Solving with Parenthesis Name: Answer Key

Solve each problem. Answers
1) (12-3)+4= . 13
2) (13-5)x2= ) 16
3) (15+15)+5= 3 6
4) (5x3)-7= 4 8
5) (24+24)+8= 5 6
6) (25-10)+5= ] 3
7) (4+6)x2= 7 5
8) (12+12)+6= o 4
9 (80+8)-4= . 6
10) (4+4)x3= 10, 24
11) (30+10)+8= 11 11
12) (90+10)+5= 1. 14
13) (10x8)-3= 13 "
14) (6% 6)+ 2= 14, 18
15) (3+10)x 2= 15, 26
16) (6+6)+3= 16 4
17) (36+6)-8= 17, -2
18) (14-5)x3= 18, 27
19) (17-10)+3= 19, 10
20) (20+10)x 10= 0. 20

M th 5 1-10 |95]90|85|80|75[ 70| 65[ 60|55 |50
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12-3)+4=
1.
2) (13-5)x2=
2.
3) (15+15)+5=
3.
4) (5x3)-7=
4.
5) (24 +24)+ 8=
5.
6) (25-10)~5=
6.
7) 4+6)+2=
7.
8) (12+12)+6=
8.
9 (80+8)-4=
9.
10) (4 + 4)X 3=
10.
11) (30+10)+8=
11.
12) (90+10)+5=
12.
13) (10)(8)-3:
13.
14) (6 X 6)— 2=
14.
15) (3+10)x2=
15.
16) (6 + 6)— 3=
16.
17) (36+6)-8=
) ¢ ) 17.
18) (14-5)x3=
18.
19) (17-10)+3=
19.
20) (20+10)x 10 =
20.
M h M odified 1-10 {95]90|85(80| 75| 70| 65| 60|55 |50
at www.CommonCoreSheets.com 11-20|145|40(35|30(25(20|15|10( 5| O
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12x8)+4=
1.
2) (25 = 5)X 2=
2.
3) (8 + 3) -5=
3.
4) (21x14)+7=
4,
5) (48+6)+10=
5.
6) (5 X 3) +4=
6.
7) (8 + 8))( 2=
7.
8 (8x8)+3=
8.
9 (11-4)x7=
9.
10) (12-10)x 9=
10.
11) (12-6)+2=
11.
12) (8 - 3) +9=
12.
13) (20-8)+ 4=
13.
14) (24-12)+6=
14,
15 (20+5)+8=
15.
16) (6x7)+5=
16.
17) (4 + 4))( 3=
17.
18) (8 X ]_2)— 4=
18.
19 Tx9)-7=
) ) 19.
20 7-5)+6=
) 7-9) 20.
[ Math ] 1-10 [95]90]85]80]75][ 70 65]60[ 5550
www.CommonCoreSheets.com 11-20[45] 40| 35[30]25] 20 15]10[ 5| 0
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Solving with Parenthesis Name. Answer Key
Solve each problem. Answers
1) (12x8)+4= 1 24
2) (25+5)x2= 2 10
3) (8+3)-5= N 6
4) (21x14)+ 7= 4 42
5) (48+6)+10= . 18
6) (5x3)+4= 6. 19
7) (8+8)x2= . 32
8 (8x8)+3= X 67
9) (11-4)x7= o 49
10) (12-10)x 9= 10. 18
11) (12-6):2= 11 3
12) (8-3)+9= 12 14
13) (20-8)+4= 13. 3
14) (24-12)+6= 14, 2
15) (20+5)+8= 15, 12
16) (6x7)+5= 16. 47
17) (4+4)x 3= 17, 24
18) (8x12)= 4= 18, 24
19) (7x9)-7= 19, 56
20) (7-5)+6= 20. 8
1T10]95190185180175] 7016516015550
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12x8)+4=
1.
2) (25 = 5)X 2=
2.
3) (8 + 3) -5=
3.
4) (21x14)+7=
4,
5) (48+6)+10=
5.
6) (5 X 3) + 4=
6.
7) (8+8)x2=
7.
8 (8x8)+3=
8.
9 (11-4)x7=
9.
10) (12-10)x 9=
10.
11) (12-6)+2=
11.
12) (8 - 3) +9=
12.
13) (20-8)+ 4=
13.
14) (24-12)+ 6=
14,
15 (20+5)+8=
15.
16) (6x7)+5=
16.
17) (4 + 4))( 3=
17.
18) (8 X ]_2)— 4=
18.
19 Tx9)-7=
) ) 19.
20 7-5)+6=
) 7-9) 20.
M ath M odified 1-10 [95]90]85]80]75][ 70 65]60[ 5550
at www.CommonCoreSheets.com 11-20[45] 40| 35[30]25] 20 15]10[ 5| 0
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (3+3)x8=
1.
2) (7 - 3))( 9=
2.
3) (27x18)+9=
3.
4) (10-6)+2=
4,
5) (4 + 9))( 6=
5.
6) (4 + 5)X 9=
6.
7) (14x14)+7=
7.
8 (11-9)+6=
8.
9 (8+4)-5=
9.
10) (4 + 4)— 2=
10.
11) (4 X 6)— 2=
11.
12) (30 x 20)+ 10=
12.
13) (4x2)-10=
13.
14) (8+ 10) -8=
14,
15) (12—3)+6:
15.
16) (21+3)-4=
16.
17) (18+18)+ 6=
17.
18) (13-9)+2=
18.
19) (20 x 30)+ 10=
19.
20) (10-6)+7=
20.
[ Math ] 1-10 [95]90]85]80]75][ 70 65]60[ 5550
www.CommonCoreSheets.com 11-20[45] 40| 35[30]25] 20 15]10[ 5| 0
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Solving with Parenthesis Name. Answer Key
Solve each problem. Answers
) (3+3x8= L 48
2 (7-3x9= ) 36
3) (27x18)+9= N 54
4) (10-6):2= 4 2
5) (4+9)x6= c 78
6) (4+5)x9= 6 81
7) (14x14)+7= 7 28
8) (11-9)+6= o 8
9 (8+4)-5= 9 -3
10) (4+4)2= 10, 4
11) (4x6)+2= 11 12
12) (30x20)= 10= 1. 60
13) (4x2)-10= 13. -2
14) (8+10)-8= 14, 10
15) (12+3)+6= 15, 10
16) (21+3)-4= 16. 3
17) (18+18)~ 6= 17. 6
18) (13-9)+2= 18, 6
19) (20 x 30)+ 10= 19, 60
20) (10-6)+7= 20, 11
110195]1901851801 75170165160 155150
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (3+3)x8=
1.
2) (7 - 3))( 9=
2.
3) (27x18)+9=
3.
4) (10-6)+2=
4,
5) (4 + 9))( 6=
5.
6) (4 + 5)X 9=
6.
7) (14x14)+7=
7.
8) (11-9)+6=
8.
9 (8+4)-5=
9.
10) (4 + 4)— 2=
10.
11) (4 X 6)— 2=
11.
12) (30%20)+10=
12.
13) (4x2)-10=
13.
14) (8+ 10) -8=
14,
15 (12+3)+6=
15.
16) (21+3)-4=
16.
17) (18+18)+ 6=
17.
18) (13-9)+2=
18.
19) (20 30)+ 10=
19.
20) (10-6)+7=
20.
Math M odified 1-10 [95]90]85]80]75][ 70 65]60[ 5550
at www.CommonCoreSheets.com 11-20[45] 40| 35[30]25] 20 15]10[ 5| 0
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12-5)+8=
1.
2) (8+4)-4=
2
3) (50-20)+10=
3
4) (30+10)-6=
4.
5) (30-18)+6=
5.
6) 8+7)-3=
6.
7) (10-2)x4=
7.
8) (10+2)x6=
8.
9) (4 + 6)— 2=
0.
10) (24 + 16)~ 8=
10.
11) (8+5)-3=
11.
12) (18+2)-7=
12.
13) (12+2)-2=
13.
14) (30 x 20)+ 10=
14.
15) (12-6)x 4=
15.
16) (72+8)x3=
16.
17) (5 + 4))( 7=
17.
18) (9+9)+3=
18.
19) (10+4)-2=
19.
20) (7-3)x5=
) @-3) 20.
[ M ath ] 1-10 {95]90|85(80| 75| 70| 65| 60|55 |50
www.CommonCoreSheets.com 11-20|145|40(35|30(25(20|15|10( 5| O
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Solving with Parenthesis Name: Answer Key
Solve each problem. Answers
1) (12-5)+8= . 15
2) (8+4)-4= 2. 8
3) (50-20)+10= 3 3
4) (30+10)-6= 4 -3
5) (30-18)+ 6= : 2
6) 8+7)-3= 6 12
7) (10-2)x4= 7 32
8) (10+2)x6= 8 30
9) (4+6)+2= 9 <)
10) (24 +16)+ 8= 10. =
11) (8+5)-3= 11 10
12) (18+2)-7= 1. 2
13) (12:2)-2= 13 4
14) (30 x 20)+ 10 = 14, 60
15) (12-6)x 4= 15, 24
16) (72+8)x3= 16. 27
17) (5+4)x 7= 17. 63
18) (9+9)=3= 18. 6
19) (10+4)-2= 19, 12
20) (7-3)x5= 2. 20
1T10]95190185180175] 7016516015550
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (12-5)+8=
1
2) (8+4)-4=
2
3) (50-20)+10=
3
4) (30+10)-6=
4,
5 (30-18)+ 6=
5.
6) (8 + 7) -3=
6.
7) (10-2)x 4=
7.
8) (10 = 2))( 6=
8.
9) (4 + 6)— 2=
9.
10) (24 + 16)~ 8=
10.
11) (8+5)-3=
11.
12) (18+2)-7=
12.
13) (12+2)-2=
13.
14) (30 20)+10=
14,
15) (12-6)x 4=
15.
16) (72+8)x3=
16.
17) (5 + 4))( 7=
17.
18) (9+9)+3=
18.
19) (10+4)-2=
19.
20) (7-3)x5=
) (-3 20.
M h M odified 1-10 |95]90|85(80|75]| 70| 65| 60|55|50
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (6 = 3))( 7=
1.
2) 9+3)-4=
2
3 (5-3)+6=
3
4) (35-21)+7=
4,
5 (6x4)+2=
5.
6) (9x4)-8=
6.
7) (9x2)+3=
7.
8) (40+5)x2=
8.
9 (20+10)-10=
)
10) (5%x4)+6=
10.
11) (9+2)-6=
11.
12) (32+8)+2=
12.
13) (6 X 4) +8=
13.
14) (49 + 7)X 6=
14.
15) (7 - 3))( 9=
15.
16) (18+18)+ 9=
16.
17 9-6)x 8=
) -6 17.
18) (21x 14)+7=
18.
19) (28+4)-10=
19.
200 (7x4)+4=
20.
[ Math ] 1-10 [95]90] 8580 75 70[ 6560 [ 55 [ 50
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Solving with Parenthesis Name. Answer Key
Solve each problem. Answers
1) (6+3)x7= . 14
2) (9+3)-4= . 3
3 (5-3)+6= . 3
4) (35-21)+7= s 5
5) (6x4)2= . 12
6) (9x4)-8= . o8
7) (9%x2)+3= , 21
8) (40+5)x2= " 16
9) (20+10)-10= X 3
10) (5x4)+6= o 26
11) (9+2)-6= . 5
12) (32+8)+2= " 6
13) (6x4)+8= o 30
14) (49+T7)x 6= " 42
15) (7-3)x9= 5 36
16) (18+18)+9= . A
17) (9-6)x 8= . 24
18) (21x 14)+7= N 42
19) (28+4)-10= o 3
20) (7x4)+4= " 39
1-10 |95]90|85(80|75]| 70| 65| 60|55|50
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (6 = 3))( 7=
1
2) 9+3)-4=
2
3 (5-3)+6=
3
4) (35-21)+7=
4,
5 (6x4)+2=
5.
6) (9x4)-8=
6.
7) (9x2)+3=
7.
8) (40+5)x2=
8.
9 (20+10)-10=
0.
10) (5%x4)+6=
10.
11) (9+2)-6=
11.
12) (32+8)+2=
12.
13) (6 X 4) +8=
13.
14) (49 = 7)X 6=
14.
15) (7 - 3))( 9=
15.
16) (18 +18)+ 9=
16.
17 9-6)x 8=
) (3-8 17.
18) (21x 14)+7=
18.
19) (28+4)-10=
19.
200 (7x4)+4=
20.
M ath M odified 1-10 [95]90[85][80[75]70[65] 605550
at www.CommonCoreSheets.com 11-20[45[40[35[30] 25 20]15]10[ 5 [ 0
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (35+7)x4=
1.
2) (15-8)+3=
2.
3) (3 X 8) +3=
3.
4) (7+2)x8=
4.
5) (10 + 4))( 4 =
5.
6) (4x2)-8=
6.
7) (18x27)+9=
7.
8 (15-5)x8=
8.
9 (6x3)-8=
9.
10) (5+4)-5=
10.
11) (15-7)x5=
11.
12) (15+10)+ 5=
12.
13) (14x21)+7=
13.
14) (12+2)-7=
14.
15) (3x10)+10=
15.
16) (16-8)+ 4=
16.
17) (8x8)-4=
) (8x8) .
18) (10-4)x10=
18.
19) 2+2)x6=
19.
20) (16+24)+8=
20.
1-10 [95]/ 90| 85|80 75| 70| 65|60 55 | 50
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Solving with Parenthesis Name:  Answer Key
Solve each problem. Answers
1) (35+7)x4= 1 20
2) (15-8)+3= N 10
3 (3x8)+3= s 27
4) (7+2)x8= a 72
5 (10+4)x4= 5 56
6) (4x2)-8= 6. 0
7) (18x27)+ 9= 7 A
8) (15-5)x8= 8. 80
9 (6x3)-8= 0. 10
10) (5+4)-5= 10. 4
11) (15-7)x5= 11 40
12) (15+10)+5= 1. S
13) (14x21)~7= 13. 42
14) (12+2)-7= 14 -1
15) (3x10)+10= 15, 40
16) (16-8)+ 4= 16. 2
17) (8x8)+ 4= 17, 16
18) (10-4)x 10= 18, 60
19) (2+2)x6= 19, 24
20) (16+ 24)= 8= 20, o)
T10195]90]85180 751701651 60155150
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Solving with Parenthesis Name:
Solve each problem. Answers
1) (35+7)x4=
1.
2) (15-8)+3=
2,
3) 3x8 +3=
3.
4) (7+2)x8=
4.
5) (10 + 4))( 4 =
5.
6) (4x2)-8=
6.
7) (18x27)+9=
7.
8) (15-5)x8=
8.
9 (6x3)-8=
9.
10) (5+4)-5=
10.
11) (15-7)x5=
11.
12) (15+10)+ 5=
12.
13) (14x21)+7=
13.
14) (12+2)-7=
14.
15) (3x10)+10=
15.
16) (16-8)+ 4=
16.
17) (8x8)-4=
) (8x8) .
18) (10-4)x10=
18.
19) 2+2)x6=
19.
20) (16 +24)+8=
20.
M odified 1-10 [95/90 85|80 75| 70| 65] 6055 | 50
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